Prof M's Strategy for Solving Mechanism Problems

Here are the steps I use to figure out a reasonable mechanism for a new reaction. I will work through the
following example to show how each step is applied.

Ex: In addition to expected product 1, product 2 is formed under the following reaction conditions.
Please draw a reasonable arrow-pushing mechanism that illustrates how product 2 is formed.
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1. Number all “heavy”atoms (C, O, Cl, N, etc).
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3. Inventory the bonds you need to break and the bonds you need to make.
Break Make
Clo-H Clo -G\
Cit- W c\0-H
Clo-Catt

4. Consider the starting materials. What is nucleophilic? What is electrophilic? (or identify acids and
bases)
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5. Decide which bond you can break or make first. Check off your break/make table from step 3.
Lewisbore + Lewts acd...
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6. Repeat steps 4 and 5 until you get to product. If you come to a step where there are 2 possibilities
about what do to, choose one and put a star next to that step. If you cannot then get to the product,
return to that step and see where the other possibility takes you.
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